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Which of the following is the proper way to dynamically access the
background color

a) document . body. style .BackgroundColor
b) document . body. attributes .BackgroundColor

¢) document . body. style . bac kgroundColor

d) document .body. style. background-color

What is the significance of the second function argument in the following
line? window.setInterval( "“run()", 100

a) The value sets how many times to call the function specified in the first argument
b) The value sets how long the function is run for

¢) The value sets how often to run the function

d) The value sets the time to wait before calling the function Once

The blur event is associated with
a) data transfer within the document

b) a decrease in image resolution

¢) background effects

d) an element losing focus

In the following line the word document is a(n) ......... that resides in the
computer's memory document.writeln(**Hello World™)

a) attribute
b) behavior

¢) object
d) method
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What is the output ? answer : nothing

Consider the following HTMILIS code.
74 =html=>

/ =script type — ““text/javascript’™™ =
N -1

-\J/ =1—— document.writeln(-*"Hello World™): ——
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-}:é =/script=

.\.. 7 =/html=>
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Alg What is the error ?
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7N It’s the third row because VAR not written
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Nz ‘ <script type = “text/javascript’”™>

7N

}. ’ v y var firstNumber;

7\ : .

o 2 Val), thirdNumber;

7N 4 firstNumber = window.prompt(*Enter an integer™, *07);

Nz secondNumber = window.prompt(“Enter an integer”, “0”);

7N —

\l/ gf thirdNumber = firstNumber + secondNumber;

7N ‘lﬂscrip&
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